R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1769\D. RWBC Drawings\FL-15816.9-12.dwg, FL-15816.12

™ PN
i 5 8. K3
INCE
= 5N 0 .
IR EFRE
' o Z
WINDOWS & DOORS 288 %.
250 Staunton Turnpike, Parkersburg, WV 26104 I MAX DA FRANME WIOTH —= § i g % :‘:é & 8
~— 41.89" MAX D.L.O. WIDTH —= 588402 F‘\E
2 Q%2 % g\ 3
2 g L) T = W
83688,
@ [ & moo @ § ,§
5400/5400S/7700/9900 Series / : 8 5
/ P 28
® ® ° ® / 3
Vinyl Sidelite Window :
% 7}
" 1 L ]
NON-IMPACT I e | &5
2 3 sz | Sz
w 8 Q 2w
= - 2 SZ
< o S= ¥ 56
< o O EHEER
-J W Wy
GENERAL NOTES o g §§ g L8
< = B < QD
n (9] Xl =on

1. This product has been evaluated and is in compliance with the 2010 f, i 2 § " %Q
Florida Building Code (FBC) structural requirements excluding the § ° 2l g <
“High Velocity Humricane Zone" (HVHZ).

>
m
2.  Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing /
or stucco. 7
/
/

3. When used in areas requiring wind borne debris protection this ) )
product is required to be protected with an impact resistant covering = . 5
that complies with Section 1609.1.2 of the FBC. g

4,  For 2x stud framing construction, anchoring of these units shall be the -
same as that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered L
architect. =

o
TABLE OF CONTENTS S
SHEET# | DESCRIPTION DATE: 8/18/14
1 Typical elevations, design pressures and general notes scALe:  N.T.S.
2 Horizontal & vertical cross sections . BY:
I g s 5091"X 96.06" | 4189"x8535" | CuS%| +350 | -350 = LJFKS
4 Bill of materials, components and glazing details Y
FL—-15816.12
SHEET _1_OF _4

© 2014 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1769\D. RWBC Drawings\FL-15816.9-12.dwg, 2.4

&P

1-1/4" MIN.
EMSB. (TYP.)

. oY K
ST
. S b

7“1\ HORIZONTAL CROSS SECTION

W Shown w/ 2X buck

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB. {TYP.)

2REQ'D

A

2REQDP
ANCHOR

/~2"\ HORIZONTAL CROSS SECTION

\2/ Shown w/ 1X buck

\Q> 2 REQD PER
ANCHOR

y/l

L4

A\

W

2REQ'D PER
ANCHOR
. I }_/@

/3 "\ VERTICAL CROSS SECTION

2 / Shown w/ 2X buck @ head
& direct o masonry @ sill

813.659.9197
Z?pé F.27 -

P.0. Box 230 Vairico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.:
Florida Board of Professional Engineers
Certificate Of Authorization No. 9813

Ry

Documents Prepared By:

5400/5400S,/7000/9900 SERIES
SIDELITE WINDOW
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL

PRODUCT:

CROSS SECTIONS

BY

REVISIONS

NO.| DATE

oaTE: 8/18/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15816.12

SHEET 2 ©oF 4

© 2014 R.W. BuiLDING CONSULTANTS INC.



R:MA - Projects\Project Folders\Proj 1701 - 1800\PF 1769\D. RWBC Drawings\FL-15816.9-12.dwg, 3.4

e 4"
(TYP.)
'ﬁ..'..f'.:. ! s /: ] *
"4.._" ‘ . :
g =
A (TYP.)

2X BUCK
_\

MASONRY
OPENING

18.5" MAX. O.C. (TYP.)

-

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain
the min. edge distance to mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw 4 1-1/4 2-1/2" 3

aco | 1 1-1/4° " v

FRAME

2X BUCK

MASONRY
OPENING

0" MAX. O

10.

« _.,dé.

.C. (TYP.)

. 4,’._1 -
: .‘".‘4

L

4
~ (TYP.)

1
2XBUCK( F
_ 1X BUCK _
DIRECT TO
MASONRY
_ TYP. _
T i i i B

6..
(TYP.)

10.5" MAX. O.C. (TYP.)

FRAME ANCHORING

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
Florida Board of Professional Engineers

Certificate Of Authorization No. 9813

/%L‘;é f:27~/;r

Lyndon F. Schmidt, P.E. No. 43409

SIDELITE WINDOW
BUCK AND FRAME ANCHORING

5400,/5400S/7000/9900 SERIES
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 8/18/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15816.12

SHEET _3 oF 4

© 2014 R.W. BUILDING CONSULTANTS INC .



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1769\D. RWBC Drawings\FL-15816.9-12.dwg, 4.4

BILL OF MATERIALS

ITEM # | DESCRIPTION . MATERIAL
A | 1XBUCKSG >=0.42 WOOD
B | 2XBUCKSG >=0.42 WOOD
C | 1/4" MAX. SHIM SPACE -
D |1/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F[#8X2-3/4"PPH WOOD SCREW STEEL
G | 1/4"X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
H |1/4"X3-1/4"PFH ELCO OR ITW CONCRETE SCREW STEEL
1 | FRAME (7002)* PVC
2 | FRAMESILL (7000)* PVC
3 | FRAME JAMB (7004)* PVC
4 | FIXED SASH (7587)* PVC
5 | 1" GLAIZING BEAD (5771)* PVC
6 | BUTTON CAP (9667)* PVC
7 | #8X7/8"PPHSMS STEEL
8 | 3/4" GLAIZING BEAD (5772)* PVC
9 | ANCHOR BLOCK (7003) -
17 | CAP FOR SILL ADAPTER* PVC
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 | OUTSIDE SILL CLADDING ALUM
21 | #8 X 2-3/4" FLAT HEAD, QUADREX WOOD SCREW STEEL
22 | JAMB COVER* PVC

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS",

1/2' GLASS __
BITE —— 3/4"THICK GLASS

SLICONE |

(TREMCO) vy 1/8'TEMPERED

8

{— AR SPACE
V} 1/8" TEMPERED
TRISEAL 5/8" SUPER SPACER

8
@ GLAZING DETAIL

1/2"GLASS ___,
BITE

SILICONE

(TREMCO) | L=

201"

5.44"

( : ) FRAME JAMB

}

5.44"

=i’

JOU

E@J

L_J¢c

[

5.44"

0.08" —s=f j=—

271"

3.7

1.53"

8

V/i

233 |

G2 GLAZING DETAIL

( : ) FIXED SASH

— 1" THICK GLASS

| .— 1/8" TEMPERED
| _.—— AIRSPACE
S

\*_\_

1/8" TEMPERED
TRISEAL 5/8" SUPER SPACER

ﬁ j

1/2" GLASS

BITE

SLICONE |
(TREMCO)

<

'<- 0.33"

0.065"

FRAME SILL

ERAnS

@ 1" GLAZING BEAD

—-‘——»

s,

O

;

- 2.36"

E— 0.065"
l*— 0.39"

—e l<—— 0.33"

f

0.77"
@ 3/4" GLAZING BEAD

-

— 1" THICK GLASS

/i

N

| «— 1/8" ANNEALED

‘\i‘; 0.030" Saflex® PVB INTERLAYER
1/8" ANNEALED

— \ AIR SPACE
\ 1/8" TEMPERED

TRISEAL 5/8" SUPER SPACER

@ GLAZING DETAIL

2 2 23
cm em N ¥
-
g2n %uv N
£ ,~n 20 N
. " Y
2 5—°hgz
zO-DZ .
<90 C w
ETn 0 ¢ g
Jp0 3% 9 o
2>k, 0F .
n- 2909 +
Zow bt 2
- O™ - 0 E
X ON- Q¢
@ .= £
-
gggzo‘(ﬁ\m
Z o, \\3
5 9 .c T8 w
o =00
P 2~ C 0g g
D_muumé E
o 9
] ;§’o:‘: >
c TP
[ o0
3
o
0
=)

%)
L =
[y
5| 8
awm
o= ==
S IS
) o
D= a
SE |4
S b e
Qw @ X2
RE |3 &
N @ Eg
ul ol &
[ 7, [©]
oF |14 =
=L o] w3
gé ol ©
(s}
ol &l =
&lw 5 @
>—
)
wn
pd
O
%]
>
o
o
=
<
o
o
z
baTE: 8/18/14
scate: N, T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15816.12

SHEET 4 ofF 4

© 2014 R.W. BUILDING CONSULTANTS INC.



